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J‘(2,3,m’4) 1 —3x li+ 2 +v% i+ 3 ~tan"'z |k} dr=2
(1,0,0) (x+2y+32) (x+2y+3z) 7] (x+2y+3z) -

. If A= [i’ ;L], (1) please diagohaiize the matrix A, i.e. to find Xand Dso that

X~1AX=D, where D is a diagonal matrix. [3t4 : 10 %] (2) compute

A0 [2t4- 110 %]
Please use the Laplace transform to solve the initial value problem

” ] _— — y — H . H -1 - _._......._1
tx"+x'+tx=0, x(0)=1, x’(0)=0. (Hint: knowing L™1{J,()} = T Where
L™ indicates the inverse Laplace Transform, and Jo(t) is the Bessel function of

the first kind and order zero) [ 4% : 20 4}

. Please solve the differential equation: y"+9y=csc3x [3+4-: 10 4]
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